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Brompton is considering the development of a new bicycle model and Will Butler-
Adams has asked you to construct a decision tree which is appended below. Options
are to:

(a) thoroughly develop and test the product,
(b) rapidly get a new product to market,

(c) further develop an existing model or

(d) simply further advertise the existing range.

Probability factors are based on the reactions of a focus group of folding bicycle
owners.
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(a) Using the decision tree and other evidence, advise Butler Adams how he should
proceed.
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